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1. The reciprocal of 3 is

(i) 1-3 (i) 2-3 (iii) (12) (i )(fz) (v)
1o (i) 2 (GiD) (10) (V) () (v

3
2. The additive inverse of 3 is

(i) O (ii)-8 UH)(T3) UV)(-13) (v)
3 8 8

3. The multiplicative inverse of-; is
(i) o (ii)(-l-l)(iii)l-6 (iv) Ul)<w 2-6
7 7 7 7 7

4. Which of the following are true?

a)9+13=13+9
b) 13x16=16x%x13
c) 16+14=14+16
d) 14-9=9-14

(i) {b,c} (i) {a,d,b} (ii) {a,c,b} (iv) {ab} (v) {d,c}

5. Which of the following are true?

a) 16—(4-14)=(16—-4)-14

b) 4+(14+19)=(4+14)+19

C) 14%x(19%16)=(14%x19)%X16
)

d) 19+(16+4)=(19+16)+4

(i) {c,d} (i) {a,d,c} (i) {a,b,c} (iv) {b,d} (v) {a,c}

6. Which of the following are true?
a) 3x(4+17)=(3%4)+(3x17)
b) 8+(3+4)=(8+3)+(8+4)
€) 17—(8%3)=(17-8)%(17-3)
d) 4%(17—-8)=(4%17)—(4%8)

(i) {b,c,a} (ii) {cd} (ii) {b,a} (iv) {a,d} (v) {b,d,a}



7.

10.

Which of the following are true?

a) 13 42 42 13
: + =. + -
17 19 19 17
b) 20 42 42 20
7 19 19 7
€) 20 121 121 20
7 13 13 7
d) 13 121 121 13
X = - X -
17 13 13 17
(i) {c.d} (i) {b.,c,a} (i) {a,d} (iv)

Which of the following are true?

a) 9 (102 11)_( 9 102 11
19 19 2 19 19 2

b) 9 43_6)_(9 _43)_6
19 18 '5° '19 18’5

c 8 102 14)_( 8 102 14
11 19 19 11 19 ' 19

d 8 43 6 o 8 43) 6
11 18 19° ‘11 18°' 19

(i) {a,b,c} (ii) {b,d} (iii)

Which of the following are true?

a) 19 73 20 19 73 19
- X(- )= X )+( X
14 8 11 14 8 14
b) 19 71 09 19 71 19
— —(- —)=(0 = )X (= -
11 7 13 11 7 11
c) 19 73 9)_(19_73) (19_
11 '8 19° ‘11 8 11
d) 19 71 10 19 71 19
X(— ="2)=(""x - X
14 7 7 14 7 14
(i) {b,d,a} (ii) {b,c,a} (iii) {b,a}
Which of the following is true?

a)
b)
)
d)

(i) {a,c,b} (ii) {a,d,b} (ii) {a,b}

{b.d,a} (v)

(iv)

12.3200-17.8700=17.8700—-12.3200
10.1800%x15.5200=15.5200%10.1800
17.8700+10.1800=10.1800+17.8700
15.5200+12.3200=12.3200+15.5200

(iv)

{c,d}

{c,d} (v)

(v)

{b,a}

{c,d} (iv) {a,d,c} (v) {a,c}

{a,d}

{b,d}



. Which of the following is true?

a
b
C
d

) 13.6300+(18.6100+6.7400)=(13.6300+18.6100)+6.7400
) 5.0000—(13.6300—-18.6100)=(5.0000—13.6300)—-18.6100
) 18.6100%(6.7400%5.0000)=(18.6100%6.7400) % 5.0000
) 6.7400+(5.0000+13.6300)=(6.7400+5.0000)+13.6300

(i) {c,d} (i) {a.d,c} (i) {a,c} (iv) {b,d} (v) {ab,c}

. Which of the following is true?

a
b
d
d

16.6800—(19.4600%2.1400)=(16.6800—19.4600) %X (16.6800—2.1400)
2.1400%(4.3000+16.6800)=(2.1400%4.3000)+(2.1400%16.6800)
4.3000%(16.6800—-19.4600)=(4.3000%16.6800)—(4.3000%19.4600)

)
)
)
) 19.4600+(2.1400+4.3000)=(19.4600+2.1400)+(19.4600+4.3000)

13.

14.

15.

16.

17.

(i) {d,c} (i) {a,d,b} (iii) {b,c} (iv) {a,c,b} (v) {a,b}

Which of the following are true?

a) whole numbers are closed under addition
b
C

d

whole numbers are closed under division
whole numbers are closed under multiplication

)
)
)
) whole numbers are closed under subtraction

(i) {b,a} (ii) {b,d,a} (iii) {b,c,a} (iv) {d,c} (v) {a.c}

Which of the following are true?

a
b
C
d

integers are closed under division
integers are closed under multiplication
integers are closed under subtraction

integers are closed under addition

(i) {a,d} (i) {b,c,d} (iii) {a,b} (iv) {a,c} (v) {ab,c}

Which of the following are true?

a
b
c
d

) rational numbers are closed under multiplication
) rational numbers are closed under subtraction

) rational numbers are closed under addition

) rational numbers are closed under division

(i) {d,b} (i) {d,a,b} (iii) {a,b,c} (iv) {d,c} (v) {d,a}

Which of the following are true?

a
b
d
d

real numbers are closed under multiplication
real numbers are closed under addition
real numbers are closed under division

—_ O~ = —

real numbers are closed under subtraction

(i) {c,d} (i) {c,ab} (i) {c,b} (iv) {a,bd} (v) {ca}

2
The reciprocal of 3 is

(i) > (i) (=) (i) 2'1 (iv) 3'1 (v)
S ) () (i) 20 (v) 35 (v) o



18.

19.

20.

21.

22.

23.

2
The additive inverse of -3 is

(i) (12) (if) > (iii) 0 (iv) (-2) (v) 3
D (13) ) o i ) (3) () 5

5
The multiplicative inverse of 5 is
(i) 2 (ii) (-1) (iii) 24 (iv) : (v) 34
i i) (- iii - iv) = (v) 3-
5 5 5 5 5

Which of the following are true?

a) 9+17=17+9
b) 17x3=3x%x17
c) 3+5=5+3
d) 5-9=9-5

(i) {b,c} (i) {acb} (i) {a,b} (iv) {adb} (v) {dc}

Which of the following are true?

a) 8+(6+14)=(8+6)+14
b) 6-(14—-16)=(6—14)-16
C) 16x

)1

d

6X(8%X6)=(16X8)X6
4+(16+8)=(14+16)=+8

(i) {a,c} (i) {d,c} (ii) {b,c,a} (iv) {b,a} (v) {b,d,a}

Which of the following are true?

a) 14%X(4+18)=(14%X4)+(14%x18)
b) 18—(3%x14)=(18-3)%(18—14)
C) 3+(14+4)=(3+14)+(3+4)
d) 4x(18-3)=(4x18)—(4x3)

(i) {b,a} (i) {b,d,a} (i) {a,d} (iv) {c,d} (v) {b,c,a}

Which of the following are true?

a) 9 43 43 9

16 16 16 16

b) 17 26 26 17
+—==—+

8 5 5 8

c) 17 43 43 17
X = X

8 16 16 8

d 9 26 26 9

16 5 5 16

(i) {a,c,b} (ii) {b,c} (i) {a,d,b} (iv) {d,c} (v) {a,b}



24.

25.

26.

27.

28.

Which of the following are true?

a) 5 55 14 5 55 14
S )= )+
14 9 19 14 9 19
b) 15 55 6)_ 15 55)
7 9 5 7 9
c) 5 22 1 5 22 1
X )=( )
14 19 15 14 19 15
d) 15 (22 13)_ 15_22).13
7 ‘19 2077 "19' 20
(i) {b,d,a} (i) {b,a} (i) {d.c} (iv) {b,c,a} (v) {a,.c}
Which of the following are true?
a) 15 51 17 15 51 15 17
X(= - —)=(=x=—)- )
17 4 13 17 4 17 13
b) 15 63 17 15 63 15 17
. X(— +—)=(- . : —)
17 8 6 17 8 17 6
c) 5 63 _11)_(_5 __63) (5 11
17 '8 9 ' '17 8 17~ 9
d) 5 51 10 5 51 5 10
~( )=(2 - == )x(= -
17 4 19 17 4 17 19
(i) {d,b} (i) {a,b} (iii) {c,b,a} (iv) {c,.a} (v) {cd,a}

Which of the following is true?

a
b
d
d

) 11.5200%17.6300=17.6300x11.5200
) 13.1200+11.5200=11.5200+13.1200
) 17.6300+4.9500=4.9500+17.6300
) 4.9500-13.1200=13.1200—-4.9500

(i) {a,c} (ii) {b,a} (i) {d,c} (iv) {b.d,a} (v) {b,c,a}

Which of the following is true?

a
b
d
d

) 5.8000%(18.6200%6.0300)=(5.8000%18.6200)%6.0300
) 18.6200+(6.0300+11.4800)=(18.6200+6.0300)+11.4800
) 11.4800+(5.8000+18.6200)=(11.4800+5.8000)+18.6200
) 6.0300—(11.4800-5.8000)=(6.0300—11.4800)—5.8000

(i) {c,a} (i) {cd,a} (i) {c,b,a} (iv) {ab} (v) {d,b}

Which of the following is true?

a
b
o
d

11.4300+(16.2700+8.1400)=(11.4300+16.2700)+(11.4300+8.1400)
8.1400%(19.2200—-11.4300)=(8.1400%19.2200)—(8.1400x11.4300)
16.2700%(8.1400+19.2200)=(16.2700%8.1400)+(16.2700% 19.2200)

)
)
)
) 19.2200—(11.4300%16.2700)=(19.2200—11.4300) % (19.2200—-16.2700)

(i) {a,b} (ii) {b,c} (i) {a,c,b} (iv) {d,c} (v) {a,d,b}



Assignment Key

1) (v) 2) (iii) 3) (i) 4) (i) 5) (i) 6) (iv)
7) (iii) 8) (iii) 9) (v) 10) (v) 11) (i) 12) (iii)
13) (v) 14) (ii) 15) (iii) 16) (iv) 17) (i) 18) (iv)
19) (i) 20) (i) 21) (i) 22) (iii) 23) (ii) 24) (v)
25) (i) 26) (i) 27) (iv) 28) (ii)
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